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2,-�7��6�	**���-�7��4E6��L�*	�
�42�,�5	�4E6���/5	�6���72�-�
5	�4,	-�A���	�	�B���-.��	�*�*:�*-�*-	/�5�*.��C��@�����4E6���,*���+�,2�*�7�4��*��$$'��

�
��*� 6	*� 7:��-,27�6-�2�� 7:�*4�6�*� 7	�*� 5�*� 5	6*� 7�� 5	� ,.B�2�� *2�-� ��62,�� ,.4�,-2,�.*� �	5B,.�
5:��-�,7�6-�2��7��+��7,��2��7:�-�5�*�,�7�*�	44M-*�+�+	�-*���
��62�
�,�	-�2�*�7���$$��C��$$%�����*�
-,	+	�0�2�-�.-.��

�6-�.*�42�,�62�-,�,�5:��+	��**����-�7��������,��2�,�7	�*�5�*��2�-*&H	5����-�
45�*���,*��	,	�*�7���	6��	��-&K�	���
�
��*� -�,,�-2�,�*� *-,�6-�,.*� *2�-� 6��0� 2O� 5	� *�,+��55	�6�� �-� 5:	445�6	-�2�� 7�� 5	� 52�� *2�-� 5�*� 45�*�
�

�6	6�*���#�*�-�,,�-2�,�*����62,,�*42�7��-�A�:C��%�N�7��-�,,�-2�,��,.B�2�	5����	�*�5�*�-�,,�-2�,�*�
5�/,�*L� 5	� *�,+��55	�6�� �-� 5�� 62�-,<5�� *2�-� 5���-.*� 4	,�5:.-��7��� 7�� -�,,�-2�,�L� 5:.52�B�����-� 7�*�
*�6-��,*L� 5�� 7.+�5244����-� 7�� ,.*�	�� ,2�-��,� 
2,�*-��,L� 5	� �.62��	�**	�6�� 7�� 5	� 
	���� 7�� 6�*�
-�,,�-2�,�*��-�5���	�A���7:�

�6-�
*��
�
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��+�,*�2,B	��*��*�2�-��

�6-�.��2���

�6-���-�7�*���+��-	�,�*�7�*���5���0�����7�*�7��5	�,.B�2�L�
4	,��0��45��5:�**26�	-�2��7�*�*	�+	B����,*�42�,�5:��+��-	�,��7�*���5���0�����7�*�7���	B���	D��-�
7�*�52-*���-,	����6�4	�0�7��5	���#�7���82,7����5�D�	�	�**���56	��7	�*�5��6	7,��7��4,2B,	����7��
*-	/�5�*	-�2��7�*�/�,B�*�7��5	6��	��-&K�	���
�
��*� 7��0�>�1� 7��5	�,.B�2�� 622,72����-� 7�*�,�6��,6��*�*�,�45�*���,*��*4�6�*�7�� 42�**2�*�42�,�
526	5�*�,�5�*�
,	D�,�*L�5�*�	�.�	B����-*�42-��-��5*L�5:.-	-�7�*�424�5	-�2�*L�5��,�7�*-,�/�-�2�L��-6��
�
G-	-�7��6�,-	���*�424�5	-�2�*�	���	5�*���

• �*4�6�*�72�-�5�*��

�6-�
*�7�*�424�5	-�2�*�*2�-�2��*�,	���-�4��-&E-,�����/	�**����2�/5��
7�� 
2�-	���L� 	�B��55�� 7:��.,�A��L� -2�5	7�L� 5��+,�� 7:��.,�A��� =�	�*� 5�*� �

�6-�
*� 7��
424�5	-�2�� +	,���-� 6D65�A�����-� 7�� �	���,�� �	-�,�55�?L� 45�*���,*� �*4�6�*� 7:2�*�	�0�
7:��-.,E-�*42,-�
L�5D�0�7��#	�	7	��

• �*4�6�*� 42-��-��55����-� *�,�0452�-.�*� 526	5����-� 2�� ,.B�2�	5����-� �� �2,.� 8	���L�
"�/5��7��
2�-	���L��2�5	7�L��2--���

• �*4�6�*�
	�*	�-�5:2/8�-�7:��-�,+��-�2�*�2��7��45	��7��B�*-�2��42�,�,.-	/5�,�5�*��

�6-�
*�
7�*� 424�5	-�2�*� �� "�	�	��6��L� �	��2�� 7�� 5:�-5	�-�A��L� ",�B�	5L� 45�*���,*� �*4�6�*�
7:2�*�	�0�7:��-.,E-�*42,-�
L��D�0�7��#	�	7	��

• �*4�6�*� 72�-� 5�*� 62��	�**	�6�*�*2�-�
,	B���-	�,�*�2�� ��62�45�-�*� �� G4�,5	�&	,6&��&
6��5L�12�5	�2��	-5	�-�A��L��*-�,B�2���2�,L��./	*-���-5	�-�A��L�1.P	���

�
��*�6	�*�*�7��5	�7�����-�2��7�*�424�5	-�2�*�*2�-����B.�.,	5�5	�*�,�0452�-	-�2�L�5	�4�,-��7:�	/�-	-��-�
5:��-,27�6-�2��7:�*4�6�*�62�4.-�-,�6�*��
�
�	�/�55�� 7:	6��,�,��45	6��5	�/�55�� 7�� 452�/�42�,�5	� 6�	**�� C�5	�*	�+	B���L� 6��A���+	�,.B5�,�5�*�
4,2/5���*�7:��-20�6	-�2��	��452�/�=*	-�,��*��?�7�*�2�*�	�0�	A�	-�A��*��
�
��� 42��-� 7��+���5.B�*5	-�
L� �5�D�	� ���	724-�2�� ��� �$%$� 7�� �����	� ���� ���� ����
�������
���� ���
�����������L��-��$$
�7��5	�125�-�A���A�./.62�*��*�,�5�*��*4�6�*����	6.�*�2��+�5�.,	/5�*���#�--��
52��	�7.*�B�.�@9��*4�6�*�62����.-	�-�*�*6�4-�/5�*�7:E-,��7.*�B�.�*����	6.�*�2��+�5�.,	/5�*L��	�*�
	�6�����:	���62,��.-.�7.*�B�.�L�/����A���
$�,	442,-*�7��*�-�	-�2��	���-�.-.�4�/5�.*��-�A���$�*2�-����
+2���7��5:E-,��� ��5�D�	�	�**��6,.	-�2��7�*�	**�*-	�-*�C�5	�4,2-�6-�2��7��5	�
	�����-�7�*�B	,7���*�7��
-�,,�-2�,�L����,��45	6����-�7�*�	�0�5�	�,�*�7��5	�
	�����
�
�������*-�,��7���2�*�,L�7��5	�#�	**���-�7��5	�1E6����=��#1?��-�5������*-�,��7��5:��+�,2������-�
7��)�./�6�=��!H�)?�*��
�*�2����-�����$$3L��-�*��*6��7��-�����$$%�������$$$L��5�D�	�72�6�5��
���*�-�,��7��5F��+�,2������-��-��	�����-�1	,6*��
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�
�,����	�(�����	�,���
�
��*��*4�6�*�5�*�45�*�62����*�*2�-�6�55�*�
	�*	�-�5:2/8�-�7:���4,.5�+����-���#�,-	���*�7:��-,���55�*�
*2�-� 62�*�7.,.�*�+�5�.,	/5�*�2�����	6.�*�� ��	�*��5���*4�6��7��+�,-./,.��7.*�B�.�����	6.��2��
+�5�.,	/5��	6-��55����-�	��)�./�6�*�52��5	���	����� ��������
�������
������������������ �*-����
42�**2�L�5��*�6��,�6��+,.�=2��6��+	5��,�6��+,.?�� ���*�62��	�**	�6�*�*�,�6�,-	���*�	�-,�*��*4�6�*�
*2�-� 45�-<-� 
	�/5�*L� ��� 4	,-�6�5��,� 42�,� 5�*� ��+�,-./,.*L� 5�*� 	�4��/���*� �-� 5�*� ,�4-�5�*L� 42�,�
5�*A��55�*�2�����62��	Q-�4	*�5���2�/,���0	6-�7:�*4�6�*��-�5��,�*�-�	-�2�����
�
���4,����,�/�5	��7��5	�
	����7��)�./�6�	�.-.�4,27��-�����$$
�4	,�5������*-�,��7���2�*�,L�7��5	�
#�	**���-�7��5	�1E6��L�A���	�4�,��*�7����*�,�,�5:.-	-�7�*�62��	�**	�6�*�*�,�5�*�+�,-./,.*��-�7��
4,��7,��7�*�	6-�2�*�42�,�62�/5�,�5�*�5	6���*�� ����	-5	*�7�*�4�-�-*��	���
�,�*��-������2�+�55��
.7�-�2�� 7�� �������� 7�*� 	�4��/���*� �-� ,�4-�5�*L� 	��*�� A�:��� ��+��-	�,�� 7�*� 	�4��/���*� *2�-� ���
4,.4	,	-�2��=��4�����$$@?����	�4,����,��+�,*�2��7����������7�*�	�4��/���*��-�,�4-�5�*�7��)�./�6�	�
.-.�4�/5�.������$$3��-�7�*�72��.�*�*2�-�,.625-.�*�C�6�	A���	��.��42�,����
	�,��������*��C�82�,�
=���� �$$$?�� ��������� 7�*� 4�-�-*� �	���
�,�*� 2�� ��6,2�	���
�,�*� �:�*-� 4	*� 4�/5�.L� �	�*� 5	�
/	�A���7��72��.�*��*-����24.,	-�2�L�	5����-.��4	,�5�*�6��,6���,*�=�����$$$?������45�*L�7��4	,-�
5:.-��7��� 7�� -�,,�-2�,�� �-� 5	� 7�

�6�5-.� 7:	66�*� 7�� 6�,-	��*� *�6-��,*L� 2�� ��� 42**�7�� A��� 4��� 7��
72��.�*�*�,�6�,-	���*�424�5	-�2�*������	�-,��726����-��*-����,.+�*�2�L�6�5���7��5:��+��-	�,���-�7��
4,2-�6-�2��7�*���/�,�	6�5���7�*�6��,24-��,�*�=2��6�	�+�&*2�,�*?��
�
*)�)���������	������
�
*)�)�)����-��./��
�
�5� D� 	� 7	�*� 5	� ,.B�2�� ��+�,2�� ��3� �*4�6�*� 7:2�*�	�0� =�	+	,7� �-� #2,���,� �$$'?L� 72�-� �%� *2�-�
6�	**.*����	�45�*�B,	�7��7�+�,*�-.�7:�*4�6�*�7	�*�5	�,.B�2��*��,��62�-,��7	�*�5�*���5���0�����7�*�
7�� �	��-&��5B��6�L� 7�� �	� �	��L� 7�� �	��-& .7.2�L� 7�� �	��-&�.5�6���� =�	��-&�.-�27�?� �-� 7��
�.-	/�-6�2�	��=�	+	,7��$$%��-������$$$?�� �"��,��62�-,��7	�*�5	�,.B�2��45�*���,*��*4�6�*�7��
*	�+	B���*L� �	�*� -,�*� 4��� 7�� ,.*�7��-�*� =�?L� A��5A��*� �*4�6�*� ��6���*�*� =
?� �-� A��5A��*�
��B,	-,�6�*�=�?L�7�*�2�*�	�0�7��,�+	B�*��-��3��*4�6�*�7:2�*�	�0�7��4,2����
�
��*� �*4�6�*� *��+	�-�*� 4��+��-� 	�**�� E-,�� 62�*�7.,.�*� C� *�,+��55�,L� *2�-� 4	,� �	�A��� 7��
62��	�**	�6��2��C�5	�*��-��7�*�4,2/5���*�4	,-�6�5��,*�=�	+	,7��$$%?����
�

• ��*��*4�6�*�A���2�-�.-.�2/*�,+.�*�7	�*�5	�,.B�2���-�A���*2�-�8�B.�*����	6.�*�4	,�5����H�

�����-�2��*�,�5	�5�*-��7�*��*4�6�*�*�*6�4-�/5�*�7:E-,��7.*�B�.�*����	6.�*�2��+�5�.,	/5�*�
4	,6��A���5��,�7�*-,�/�-�2���*-�5���-.��2��4	,6��A���5�*�424�5	-�2�*�*2�-�,	,�*�=��*,2*��,*�
�$$'�R��2�**�	���-��,��55����$$'?��� ,�/��82�B,�*L�#	�	,7�4�5�-L��	,6�55��C�	�5�*�/5���*L�
 	,,2-�7:�*5	�7�L���*��C�.4	�5�--�*L���B5��,2D	5L�1DB	,B���C�-E-��/5	�6��L��	�62��4�5�,���
=*2�*&�*4�6�� ������?L� �M5�� 8	���L� #�2��--�� 5	42��L� (�/2�� 7�*� �	,	�*L� ��,5�&/5��� 7��
5:�*-L�1��&B,��6�����B,	-,�6�L��,�	�-�7��5��#2�-���-��,�	�-�C�A�����	�B�S��

• #�,-	���*� �*4�6�*� 7�� 4	**�,�	�0� �-� 7:2�*�	�0� -�,,�*-,�*� 62��	�**��-� 7�*��	�**�*�2�� 7�*�
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/	�**�*� 7�� 424�5	-�2�� *	�*� E-,�� 7	�*� ���� *�-�	-�2�� 4,.266�4	�-�� =)�./�6� �$$
� 7	�*�
�,��/5	D��$$3?��

• �	�424�5	-�2��7�����2,�	��C�62�,2�����2�,��	�62��������/	�**��7�*��

�6-�
*���-,���$%���-�
�$$
� 7	�*�5	�,.B�2�L�/����A��L�*�,� 6�,-	��*�*�-�*L� �5�D�	�-�/�	�62�4�7�� 62�45�*���6���,*�
=�	55	�,����������$$%?�������	/5�	����4,.*��-��5F.+25�-�2��7��5	�424�5	-�2��7	�*�5	�,.B�2��
*�52��5�*���+��-	�,�*��

• ��� 	,,2-�C�2��5�7:2,�*�,	�-�4��-�E-,��	�**��C�*�,+��55�,L����,	�*2��7�*�62�4�*�
2,�*-��,�*L�6	,�
�5���6������6	+�-.��

• �	�424�5	-�2��7�� 	,,2-�7:�*5	�7���*-�4�-�-�L�4���62������-�4,.*��-����-�*2�*�.-�7��4	,�5��
�#����15�*�*4.6�
�A�����-�42�,�5	�,.B�2�L��5���6���42-��-��55����-�7	�*�5�*��2�-*�H	5��L�
2O��5�	�.-.�7.65	,.�62������6���,�	��)�./�6�42�,�5	�4,����,��
2�*�����$%%�=���?������
��#�,.	5�*�,	�7�*�-,	+	�0�*�,�6�--���*4�6��7	�*�5	�,.B�2������$$$��

• �	���*��C�.4	�5�--�*L�*��,�4,27��-�7	�*�5��*�7�7��)�./�6L��	�*�	�**��7	�*�5	�,.B�2��4,�*�
7:�5�	����	�4�,-��7�*�.,	/5��,�*�7��*�7�7��)�./�6�	�0A��55�*�6�--���*4�6���*-�	**26�.���-�
7��*�*� 4,2��*�*�,	�-�5	� 4,��6�4	5�� 6	�*�� 7�� 7.65��� 7��5	� 424�5	-�2�� =�2,��	�� �-���2����
�$$@?����	�,.B�2���*-�5	�5���-��*�4-��-,�2�	5��7��6�--���*4�6���

• ��*�*�-�*�7����7�
�6	-�2��7���	�62��4�5�,���*2�-�	�**��7�*�*�-�*�
,.A���-.*�4	,�5�*�	�	-��,*�
7:	54���*������5�	+	�-�7�*4	,��7��*�7�7��)�./�6�7�4��*�5�*�	��.�*�@�����5�	�.-.�,.��-,27��-�
	+�6�*�66�*��-�3�7�*��
�62�45�*�4,.*��-*���6���-�7	�*�5���	B���	D�=�����$$$?�����*��+��
*:��42*�� 	
��� 7�� 5���-�,� 5:	66�*� 	�0� *�-�*� 7�� ��7�
�6	-�2�� *�� 5�*� 	54���*-�*� *:	+�,��-�
7.,	�B�	�-��

• �	�*��5��	�,��7����7�
�6	-�2��7��5	� ��
�--���2�,��7	�*�5	�,.B�2��*��,�-,2�+��	��1�-�-��	,	�*�
7���	��-& .7.2������-.,���,����-L�2��7.�2�/,	�-�7��+��B-�C�-,��-����7�+�7�*L��	�*�7�4��*�
7��0�2��-,2�*�	�*L�*��5����-����2��7��0�62�45�*�2�-�.-.�2/*�,+.*����:��+	��**����-�4	,�
5�*�A���2��55�*�*�,	�-����
	6-��,�C�62�*�7.,�,��

• �	��-�,���4��,,�B	,�����6���*�,�5�*�45	B�*��-�5�*�Q5�*L��-�5��7.,	�B����-�4	,�5�*�45	�*	�6��,*�
	��*��A���5��62�-,<5��7����+�	��7��5	6��	��-&K�	��4��+��-�5������,���

• ���(�/2���2D��&7�6��-�5��(�/2��7�*��	,	�*�*2�-�4���62���*L��	�*�*2�*�.-�7�������(�/2��
7�*��	,	�*L�4,.*��-�*�,�5	�5�*-��7�*��*4�6�*����	6.�*L���6���7	�*�5�*�6�	�4*��-�5�*���7*�
4��+��-�E-,�� 7.-,��-*�52,*A�:�5*�*2�-�
	�6�.*�� ��,2�*�	�-,�*� �*4�6�*�A�����6���-� 7	�*�5�*�
6�	�4*�2�-�5���E���4,2/5������
∗ ����,�	�-�7�����#2�-�L�7	�*�5	�5�*-��7�*�2�*�	�0����	6.*L�	�����7�*-,�/�-�2��5���-.����
��*� -,	+	�0� 7�� #5�/� 7�*� 2,��-�252B��*� 7�� �	B���	DJ�	6&�	��-&K�	�� 2�-� 4�,��*� 7��
4,.6�*�,�*	�7�*-,�/�-�2��7	�*�5	�45	����7���	B���	D��-�7���	6��	��-&K�	���

∗ ��� 2B5��7�*�4,.*��-�5	��-�,��55��7�*�4,.*�*2�-�,	,�*�7	�*�5	�,.B�2���-�5��,*�424�5	-�2�*�
*2�-����/	�**�*L�/����A���5�*�424�5	-�2�*�45�*�	��*�7�*��42,-��-�/������

• ��� �	,-���-� ,	�2���,� ��6��� *2�+��-� 7	�*� 5�*� 6�����.�*� 	/	�72��.�*L� *2�� *-	-�-� 
	�-�
5:2/8�-�7:����.-�7��4	,�5���#��A���	��2-.����6�,-	���7.65����
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